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8 9 2321 MR WABE(©2) = m-gmEe 12.15 8 5 1019 ML {=3F@) = ®m-mET 12.74
9 1 1328 Hli BEE@R) = ®E- T 12. 40 6 1126 i FEKES(3) = & ks DNS
TH#H (L: +2. 6) SHH (H.: +4. 0)
NEAL V= FunT - A iz FLEk apvb NAGL V=t - K4 e Fofk aivb
1 6 973 &Kk &N (3) = - mls 12.12 1 2 5545 ¥R HEA(J3) = - kmvebow ac 11.95
2 8 1557 HAWF HIEI(3) = & - MR 12.16 2 5 414 /AR BEME(3) = - b 12.22
32 2473 W OpEE() = - FAED 12.21 3 1 816 L JEKE®B) = m-pusw 12. 24
4 9 5666 BT MEME(]3) = - fEERRC 12. 26 4 9 1756 A EIk(Q) = &- EHp 12. 42
5 5 2365 T BE—HI(2) = ®m-mtsd 12.29 5 3 103 FRH FEEAG) = &-EWE 12. 44
6 1 2788 KhL £ (2) = - Eyh 12. 61 6 4 1467 Al f&E(3) - SEAHES 12.55
73 117 I BE() = 12. 69 76 154 /MK HTAE@B) = ®- K 12. 67
8 4 1764 A EHiE(2) = ®- EWh 12.82 7265 IR BE@B) = ®-mEsgEd DNS
7 1651 B @K@ = E- MR DNS 8 547 ®HiH FMM@) = &E-Zad DNS
ofH. (Jal: +4. 2) 10#H (A +4. 2)
NEAL V= FunT - A i FLEk apvb NAGL V=t - K e Fodk aivb
1 8 65 A FLRFE(2) = m- BHuh 12. 41 19 299 BA @) = &H-RET 12.35
9 5 71 ¥R =B = m-pmme 12,49 2 5 1759 SEJII EH(2) = - R 12.52
3 1 1745 AFT HEA(Q) = & gerd 12.56 31 14 B KAJ1) = @- dseast  12.58
4 7 1033 ik EE(3) S L 12. 60 43 2323 HIE JEAv(2) = meemew 12.82
5 6 808 FHF fEIk(2) = ®-#mt 12. 63 5 8 2463 FA HIK(2) = ®m-EAT 12.82 *TK
6 2 2727 /NI BRF(3) = meowwrssy 12068 6 2 1415 fi #AB) = m- T 12. 89
79 1332 JREE FEA(3) = & - fEEd 12.72 707 113 BEA O &EQB) = & EmE 13.02
8 4 2090 L FEE(2) = W-sEp 12.73 8 4 2418 fHky EHAK(Q) = W-@mT 13. 09
9 3 2217 AR FEFHE(2) = &E-Eat 12.93 9 6 1547 Il FAE3) = MR 13.85

LI DNS: K15 +TKEEHY *TLEFELL



258 +-100m

YA gk (K) 10. 62 il B (L) ar Fnoe e (2019) 4H29H 10:25 §{hv -2
§ARV-2 2548
1150 (i +6. 0) 12%H (8:+5. 0)
NEAL V= Fun - A iz FLEk apvb WAL V=t - K4 e Fofk aivb
1 6 2364 KB &%) = - alss 12. 24 1 4 856 B ME3F(J1) = ®E-4Er 12.37
2 4 2012 W RRER(R) = & - —R 12.33 2 2 810 FEA EMEQR) = ®m-pusw 12.70
3 2 2562 FH K2 = ®-sunTRC 12.63 31 2580 = A SLEE(J2) = m-4%)r 12.72
49 2420 FF EAKBGB) = &-Ema 12.78 4 6 846 H FEF(3) = I - fde 12.73
5 1 1565 P MKEL(3) = & MR 12.85 5 7 2575 KB H(2) - ST 13. 14
6 5 413 FHE HA(3) = m-wmiwn 12. 86 6 8 806 & HLZM(Q) = &E-burt 13.18
7 8 5925 ¥EK P (J3) = - REmRC 12.95 7 3 2461 KT FEK(Q) = ®E-E&H 13.23
8 7 2950 FEL MEBH(2) = E- 13. 04 8 5 5661 EHA EAE(J2) = ®-mEERC 13,31
3 1124 1FfE H#E3FQ3) = & EETD DNS 9 9 1020 HY KEf(Q) = &-mEEs 13.39
13%H (: +4. 4) 14%H (a:+3.3)
JEBAL v=v Fun' - K4 Btz Aok aivb JIEAL Vv=v  Fun' - K4 Ei: Fofk aAvb
17 2092 F1F FE}(2) = -k 12. 67 1 3 1746 NH 10 (2) = &-@irs 12.75
2 6 1066 K EMB) = &-@mmd 12.82 2 5 1714 TN EE(B) = - EETw 13.01
39 2797 MAE  FEh(2) = - mEd 12.82 *TK 37 2314 ;UK EEPQ) = w-mmeEs 13. 07
4 3 800 KVH FEKEL(2) = - bugt 12.91 4 9 1359 fall #ERR(3) = W wmms 13.19
5 5 370 kA JE®) SR 12.97 5 8 1275 JIER #AK(3) = - 13.25
6 8 2545 FEEE BAIL(2) = E- MM 13. 00 6 2 2469 kB EEQ) = &E-EAd 13.73
1 1024 =#F —N(3) = &-mes DNS 1 2715 il @& (©Q) = =-gmuw DNS
2 6081 fEkf fEH Q) = ®-mmu DNS 4 546 [T @ (3) = e DR DNS
4 1 By #EAEQB) = & EE DNS 6 408 g BEKER(3) = - mbinm DNS
15%H (j: +3. 4) 164H (a:+2. 1)
NEAL V= FunT - A iz FLEk apvb NAGL V=t - K4 e Fofk aivh
15 364 [Lfid EA(3) = - 12. 74 1 5 366 FxH MHE-EAIQG) = ®=-psud 12.51
2 9 220 kM fEEESQ) = & Afd 12.74 *TK 2 4 2539 KH Q) SO 12.77
3 2 3063 WA FHKQ) = &-&EETH 12. 85 3 1 2879 AT Kpk(2) = &-xHh 12.87
4 3 2013 Mg EzE(2) = &A% 13.18 4 6 2540 FEA M&A(Q) = ®E-mmd 12,96
5 7 13 A sk (J1) = & odBeast 13,25 5 2 2547 B [E(2) = - ffEET 13.12
6 6 2155 EEY EEE(Q) = &-mEikd 13.38 6 8 1463 F L EF®) - ST 13.13
7 1 2952 @it Ef(2) = & - 13. 47 707 62 AT WEXQ) = @-spba 13.26
4 2154 FEE IES(2) = - e DNS 8 9 2525 FEHAR RfK(2) = s 13.56
8 2878 YR fFE(Q) = & HET DNS 9 3 856 MW EFB) = m-pmEum 13. 77
17#H (J: +4. 2) 18%H (: +6. 0)
NEAL V= FunT - A iz FLEk apvb NAGL V=t - K4 e Fofk aivb
1 8 2561 KJII #H#ER) = - Wfd 12.69 13 403 WA #K©Q) = @mpmermh 13.08
2 5 2719 [ Hi(2) = & il 12.81 2 1 2541 B fBEK(2) = E-EsH 13.10
33 2877 [uA k() = ®- it 12.84 3 8 2085 fakt BeM-(2) = ®-AJEw 13. 14
4 2 1741 BiH EBR(Q) = @B 12.99 4 7 609 FEE MG = ®m-smmd 13.28
5 6 2890 M 1&KA(2) = - wmiEnE 13.13 5 6 2388 &)l HEE(2) = &-mBT 13.33
6 4 1414 HA ¥R (3) = & - WRh 13.25 6 4 67 ZEiE LEE(2) = m-pabh 13.48
7 9 5664 BEE  H(J3) = i - BBEFRC 13.96 79 607 B KZE(R) = E-mmt 13.51
8 1 2386 #HME PuE(Q) = ®:-met 19. 84 8 5 369 AHA EHKOB) = ®-pmss 13.51 *TK
7 1915 #EP EEAF(3) = E-ReE DNS 9 2 1555 KA HT@) = &E-Ipd 13.58
195%H (j: +3. 4) 2042 (a:+3.3)
NEAL V= FunT - A i FLEk apvb NAGL V=t - K e Fodk aivb
17 2083 iLH  #:(2) S RN 13.02 17 64 KL BEA(QQ) = @ Bk 13.03
2 3 261 F& M) = - MAET 13.05 2 8 2538 A A HA(2) = & mEssE 13.10
3 4 2563 FJIl (2 = &-#Ah 13. 46 3 4 2840 AW KHEE(Q2) = ®-REW® 13.38
4 9 2316 ME BE(©) = 13.72 4 2 363 LB EKQB) = @ pEmms 13.53
5 6 2317 [k BHFHQ2) = weemEin 13.98 5 5 2091 R f%(2) = - kET 13.57
6 5 5667 I fEEL(J3) = - HEERC 14. 03 6 9 1708 kT ZFEyE(2) = - EETR 13. 86
78 2384 phpy K2 = & mpw 14. 50 7 3 7038 AUM  #pk(2) - AT 14. 05
2 2157 il FIHR(2) = & s DNS 8 6 72 TR OKFE) = m-mpieh 14. 35

LI DNS: K15 +TKEEHY *TLEFELL



258 +-100m

YA gk (K) 10. 62 il B (L) ar Fnoe e (2019) 4H29H 10:25 §{hv -2
§ARV-2 2548
2142 (ji: +4. 9) 224 (8: +4. 6)
NEAL V= Fun - A iz FLEk apvb WAL V=t - K4 e Fofk aivb
12 2836 Wil B2 = &m-RBD 12. 95 1 5 2880 WIIR mE(Q) = &-xh 13.39
2 6 2894 b KB (2) = - mmad 13.69 2 7 347 KRE O WK®B) = ®-RHET® 13.78
3 9 2014 IR EFHQ) = @E- RS 14. 08 3 6 2892 KA EKREE(2) = ®-mEEAE 14. 07
4 5 1360 TEF EEE(3) = & aEEE 14.12 4 3 2383 My MA(Q2) = m-mkETw 14. 39
5 7 69 AT EN(Q) = & s 14. 23 5 9 5968 i EHilE(2) = ®m-AJEw 14. 66
6 4 2218 /A HIEEQ) = E-Esd 14. 23 *TK 2 260 FAEH FHEE(S) = m-msEd DNS
7 3 5663 ®HA AM(J3) = &E-mEmRe 14. 43 4 853 KAt HE@R) = &E-xpd DNS
8 8 1782 #A&ZxH HEME(Q) = ®m- W 14. 46 8 400 JIlp  #Z=(2) = @-mmbEh DNS
23%H (j: +2. 8) 24%H (8: +4. 3)
NEAL V- Fun - A iz FLEk apvb NAGL V=t - K4 e Fofk aivb
14 2838 [UF #HAQ) = ®=-RES 13.26 1 8 2010 JLH #H%EE@) = ®-—A# 14. 35
2 5 2318 AR MiA(2) = w-gmEin 13.27 2 4 2796 bkt BEA(2) = W @R 14. 56
32 1891 =4 ®EHQ) = &E-xpd 14.52 3 7 2574 35 HA£ (2) T SEANES 14. 80
4 8 2795 A HKQ) = &=-@wEd 14.53 4 9 2088 U Fifk(2) = m-mET 16.01
5 3 63 TEAT ZEEQ) = ®-auud 14. 99 5 3 66 EF iz (2) = m- Baber 16. 38
6 9 302 A0 HiEk@) = ®m-REF 15.06 6 6 1021 #ME W@ = ®E-@mRd 16,41
77 6095 E (2 = & AR 15. 07 T2 2901 /BN HIAQ2) = & 17. 37
8 6 2307 Wil fE—(2) = ®-xiw 15. 19 5 5923 Wiy KEE(J2) = - AgERC DNS
25%H (. +4. 4) H A L —R FALSHE
NEAL V= FunT - A i FLEk apvb JIEAS7. Fyn - K4 e ok B aAvh
14 2832 ®H H=Q) = ®-REET 13.02 1 157 AT RAQE) = &- -&Hf 10.95 +2.7
2 6 2833 ML WRI(2) = E-RE© 13.15 2 1274 kS H#E(3) = & Ed 1111 +2.7
32 2834 MEHL EFHQ) = &E- BT 13.17 3 2359 AR U (2) R R RS 11.21 +2.7
4 3 68 MK FEE (2) = w - s3meE 13.26 4 5665 fEH f#EE (J3) = & - AEEFRC 11.24 +2.7
5 9 2941 JARE BEARQ) = & - fdded 13.76 5 977 AL BRI (3) = & - mtsHd 11.35 +2.7
6 8 2839 KiB #(2) = & RET 14.17 6 2363 LA L@ = m-uish 11.40 +2.7
7 5 847 FE EIIQR) = &t 14. 25 7 5886 fEi EF(J3) = memmvesoox 11.42 +3.0
7 61 IWF WEQ = m-sudes DNS 8 409 HPE  FEA(3) = mempbim 11.51 +4.9
8 5662 fin }ﬁjﬁ(JZ) = H - BEUfRC 11.51 +2.7

LI DNS: K15 +TKEEHY *TLEFELL



Hh 52 58 +-200m

R R (K)) 21.55 i Fodk (44 9R4D) Rk 84 (1996) AH29H 12:40 §{hb—2
PARV-2 1458
140 (8 +4. 9) 2%H (.:+5. 1)
NEAL V= Fun - A iz FLEk apvb WAL V=t - K4 e Fofk aivb
1 8 1567 KF RBAEB) = ®- & 22.12 1 7 5665 fRH f#E(J3) = @-pglRC 23,20
2 6 1274 TR EEE(3) = - Sk 22.24 2 5 112 KW HEAM(J2) = ®-NAC 23.70
3 7 857 B K—(3) = m-pmEie 22.57 34 1070 kb #®K@) = ®E-@md 24.20
4 4 977 bR BEKER(3) = ®-mist 2291 4 2 267 Tk BEAER) = m-msEe 24,34
5 9 2359 faA UR(2) = m-dtem 23,75 5 9 1671 PHIL #EEER) = & mEd 24. 45
2 1259 R/ F BEHI(3) = & DNS 6 6 1417 WEH Z&HG) = &E-wmEd 24.73
3 2363 [UA () = m-mls DNS 73 1022 B4 HEIKRE) = ®m-mET 25.05
5 858 Bk BEK(3) = s DNS 8 5886 fEly S} (J3) = mowmvessx DNS
3%H (B +4. 2) 430 (.:+6. 2)
NEAL V- Fun - A iz FLEk apvb NAGL V=t - K4 e Fofk aivb
1 6 1550 B BEA(3) = - /Mrd 23.95 1 5 76 FEAT FH(3) = m- mpmeh 23. 47
2 7 1416 JHI MK B) = E- R 24.53 2 2 1554 KW #R3}F(3) = m-Mpm 24. 20
33 822 KA BB @B) = &-bamd 24. 59 3 8 1396 [HAR FHAMB) = mewmeh 2445
42 1467 Al fRE () = me =mmEe 25. 49 4 6 2213 LR WREEQ) = &E-ExT 24.95
5 4 1019 M {—=3F(Q3) = ®m-@Ehe 26. 31 5 4 75 B 1A 3) = E - AR 24.97
5 1126 ftfy FEKER(3) = & - EAED DNS 6 7 263 BE HEZB@) = m-@msEh 2500
8 2358 WE)I| {7 (2) = ®m-atesh DNS 73 410 FE FEP@B) = m-wwermn 25. 24
9 1552 EPH  ECKES(3) = - MrE DNS 9 5885 TG EFAX(J3) = mommve=sva DNS
5%H (: +4. 8) 6}H. (. +6. 3)
NEAL V= FunT - A i FLEk apvb AL V=t - K4 e Fofk aivb
1 8 812 HfF #HFQ) = &-basd 23.55 19 414 /bR BEME(3) = - mbmEn 24. 62
2 7 970 FH WYE®R) = ®m-uted 24,12 2 6 299 BAR R = &E-RBET 24. 90
3 9 1334 [UA TE@) = &-HEh 25. 67 37 301 Bk WSR3 = m-RET 25. 05
4 2 2721 U BRF(3) = meowrsy 25,82 4 4 6076 Tl BER () = @ mmT 25. 32
5 6 1066 K¥ EM(3) = &-amd 26. 26 5 3 2737 ERE  RR(2) = MR 25. 36
6 4 2420 FH BABGB) = ®m-EEe® 26. 42 6 8 71 HH SR (3) = & ke 25. 59
7 5 2788 Kl E(2) = & - Eyh 26. 63 7002 2732 KO BHURAQ) = &E-MRE 26. 05
3 115 BA HLHB) = ®m- Ew DNS 8 5 1023 jEyy JHER) = ®E-mET 26.74
TH#H (L:+7. 8) SHH (H.: +4. 8)
NEAL V= FunT - A i FLEk apvb NAGL V=t - K e Fodk aivb
1 6 264 [fH BE(3) = E-EsEd 25. 45 1 5 266 A EiK(@) = ®m-msEd 25. 55
2 4 1759 W R (2) S 26. 08 2 8 2742 HmE (2 = MR 26. 32
3 7 2217 dbfd EA Q) = & Eam 26.19 37 1359 ML fEER() = m-ammh 26.96
4 3 801 M kEH() = &-bars 26. 56 4 6 2469 EB EEQ) = &E-EAd 27.39
5 8 1020 WY K#(B) = ®-mhd 26. 97 5 3 2952 fEib Q) = ®m-mumd 27.72
6 2 2950 L HERR(2) = & - mmEpe 27.28 4 408 g FEKRR(3) = - mpdm DNS
7 5 2560 KPE AyRE(2) = & #AH 29. 22 9 1024 =#F —HN(3) = m-mET DNS
9 1124 IEfE fE3F@) = @A DNS
ofH. (L:+5. 3) 10%H (. +4.7)
NESE V= dun - KR4 FLEk apvb JELL V= fun - R4 Ei: Fodk 2Avb

1 2797 RAJR SR (2)
64 AF1 BEA(2)
2740 1R ARAL(2)
2719 fHiF 2(2)
800 KPH  FAHE (2)
2461 KT 5K (2)
1915 #KE it (3)

- 25.73 1 6 1330 AREE #@3)
o 25,99 220 KM fEEER(2) & BRP O 26.05
- /Mg 26. 75 2739 SFAR  FnE(2) - MR 26. 71

® it 25.23
i
&
- AL 26. 81 1463 I &EF () - SR 26. 78
&
&
i

[

[t il

- BaE 27.09 1333 A HEEO) w MR 26.92
- 27.52 803 K HA(2) - BT 28. 14
-k DNS 2715 W REk(2) - frE DNS

L T T T (T I g
b2l

S 01 B W DN
0 3 U1 © =~ O W

S O = W DN
~N © U1 0 = W

[T

JFL{5l DNS:&R15



Hh 52 58 +-200m

VR A AR (KJ) 21. 55 ] ok (4 akdb) Tk 84 (1996) 4H29H 12:40 J{hV—A
PAAV-A 1458
1150 (Ji: +3.8) 12%H (8: +4. 3)
NEAL V= Fun - A iz FLEk apvb WAL V=t - K4 e Fofk aivb
1 5 2539 KH FH(O) B e 26. 81 1 3 409 WPE  HEAN(3) = m-mmbmh 26. 18
2 7 1741 ®iE O ER(©Q) = & - B 26. 97 2 6 2547 FER BE(2) = & - e 26. 71
3 3 1755 W EA(2) = E- FhWew 28. 88 3 5 403 A #K(2) = m-wwermn 27.64
4 4 1360 B EEFE(3) = ®m-amme 29,88 47 2890 WH MEA(2) = m-mEak 28,44
5 6 2383 M FRFEH(2) = m-mEt 30,08 5 4 2573 =i K (2) - SHAR 28. 65
6 8 2384 mhy KR = &E-mEw 30. 23 6 9 2894 AL KBE(2) = m-mk 29,47
9 2013 Hlh #FZE(Q2) = &E- R4 DNS 8 1766 KW 1=(2) = - B DNS
13%H (Ji: +3. 5) 14%H (8: +3. 6)
NEAL V= FunT - A i FLEk apvb NAGL V=t - K4 e Fofk aivh
1 5 2786 FIH HEYR(2) = & - WG 25. 07 1 9 2575 K& (2 - S EAHRD 27.06
2 4 14 HHE KFJ1) = & dBeast 26,20 2 7 67 TEIE LEE(2) = m-mEET 27.86
3 9 69 AFE EA(Q) = m-mEas 28.90 34 2941 AR OEERR(2) = ®E -l 28.79
47 1740 HFF &) = & - BT 30.13 4 5 15 i I (J1) = @ —dBeast 29,48
5 3 2572 K HE(Q) = mecmmme 30. 22 3 2525 VWHAR SRfK(2) = &E- g DNS
6 6 811 IUA MHRE(©Q) = ®-burd 31.93 6 400 JIlp #Z2(2) = @b DNS
8 5923 Wy KPE(J2) = & - felFRC DNS 8 1746 WNH J20-(2) = & BarH DNS

A A S A \TA
NI Fun - R4 Bz ko WA
1 157 KN RBAQB) = &E-—&F 22.12 +4.9
2 1274 ik #EE(3) = & - xEd 22.24 +4.9
3 857 K K—(3) = m-pmaEh 22.57 +4.9
4 977 Jb)2 FEKER(3) = m- #tshh 22.91 +4.9
5 5665 fEH {EE (J3) = E-REBRC 23,20 +5.1
6 76 AT HARG) = m- swmok 23.47 +6.2
7 812 Wikt HF(3) = m-maET  23.55 +4.8
8 112 kp #HASRJ2) = &-NAC 23.70 +5.1

JFL{5l DNS:&R15



HH 52 58 H-400m

R R (K)) 49. 55 AT b A (PEAEPY) % 254F (2013) AH29H 14:40 #{hb—%
AhV-2  4%8
1#H 2%8
NEAL V= Fun - A iz FLEk apvb WAL V=t - K4 e Fofk aivb
1 8 857 XK K—(3) = m-psai 52. 88 1 4 1548 #&% BEHE(3) = H MR 56. 95
2 6 284 ¥EAK BEMIR(3) = m--umd 55,00 2 7 5666 J&ir fEME(J3) = H-fEMRC 57.19
3 4 804 IUF BHIQ) = &t 58. 36 3 5 2315 V[ HEE(2) = - gmEn 58. 83
4 9 107 fitdy HEFEEG) = E- Ewew 58. 84 4 6 1330 IRES #E(O3) = - iR 59. 08
5 2 1131 &K HEE(3) = & -4 59. 30 5 2 1023 A PEE@G) = m-mET 1:02.80
6 3 814 it #H®3) = & - pEh 59. 55 6 3 1069 &M HRT@B) = m-@mEH 1:03.59
5 865 &AM BE@R) = m-pmai DNS 78 1633 fEfE HEH(3) = & HUET 1:08.69
7 858 ER BHA(3) = megmen DNS 9 267 L BEAB) = m-mEsmd DNS
3%E 4%
NEAL V- Fun - A iz FLEk apvb NAGL V=t - K4 e Fofk aivb
1 7 861 Paft BEE(3) = m-gmane 1:01.73 13 402 bR DA(Q) = mewmeemn 1:00, 22
2 5 5661 EhA EA(Q2) = &-REHRC 1:04.31 2 4 5925 K EBE(J3) = HE-REMRC 1:04. 32
36 113 AR &EEB) = &E-ESF 1:05.39 3 5 2895 it ®wE—(2) = ®-mEee 1:04. 89
4 2 374 EH BE(3) = m-gmwr 1:09.03 4 6 1331 MHH f&A((3) = |- 1:05.05
5 9 2318 AR A (2) = @e-gmeur 1:10.07 5 8 2794 bkt FA(2) = ®m-@ET 1:15.03
3 1500 Hkf ®HH (3) = &-mmep DNS 6 7 2889 iy FEA(2) = ®m-mmat 1:16.20
4 592 REW EAAE(3) = & AdET DNS 79 15 i I (J1) = @ —dBeast 1:16.74
8 1912 MTF i3k (3) = m-mrm DNS
A AL —R _BNE8HT
JIEAL fon - KA P& Fodk aivb
857 EE K—(3) = m-pmit 52. 88
284 VK BIR(3) = ®---mme 55,00

1548 #f HEME(3)
5666 LI HEME(]3)

1

2

3 qMRE 56,95
4

5 804 (LR B

6

7

8

- AREFRC 57.19
O STl 58. 36
- EE)Ih 58.83
- BT 58. 84
& 59. 08

2315 VE[E  ShHE(2)
107 fEd s (3)
1330 IR ¥ (3)

[ fue e [ o

JFL{5l DNS:&R15



Hh 52 58 F-800m

IR R (K)) 1:54. 02 HPC fEh (F B3 Rk 24F (1990) AH29H 13:40 §{hb—2
BAhV-%  9%H
1#H 2%8
NEAL V= Fun - A iz FLEk apvb WAL V=t - K4 e Fofk aivb
1 5 1697 H#IL  HE (3) = E-fEh 2:04.21 1 7 103 FRH FEIA(G) = &E- Esmd 2:10.98
2 4 546 F[Pr A () = @ ZRAF 2:05.37 2 5 5884 firn RIE(J3) = mewmva=ora 2:12.15
3 6 1125 P FEA() = E-EAH 2:06.20 3 4 1469 A  BEK(3) we cwEe 2114, 61
4 7 1675 KU T G) = ®E-mEe 2:09.52 4 1 1336 #H K (3) = E-fRET 2:14.64
5 8 1566 EA MWH(3) = W-MEd 2:10.45 5 2 804 [N BHMEO = E-bBamh 2:16.92
6 2 2726 LA AMII(J3) = meawmerss 211163 6 3 6079 WE)II HER() = E-Amd 2:17.95
7 3 547 HiH EHG) = &Rt 2:13.23 79 118 JNEE EK(3) = E- BT 2:21.70
8 9 1548 & EEKE(3) = d@e/MRE 2:14.89 8 8 1558 /M Hif(3) = m-/MRe 2:22.91
9 10 1071 H¥ —JE@) = \E-&mEF 2:14.99 9 10 1553 BEFH &L () = &E-/AMRE 2:29.44
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6 9 685 MM LUF(R) = - e 13.39 6 3 1582 (Il EET-(3) = & /MR 13.42
72 745 FHHE MERE(3) = & - Ead 13.83 7 9 165 fg HZ(B) = E- &R 13.42 *TK
1 1585 HH JAALER) = &b DNS 8 5 2225 [UR ®x(2) = ®-Ead 13,51
4 2370 HiFE B2 = ®m-mlbad DNS 9 2 617 BAF WG = m-mmT 13.80
3%H (8 +4. 0) 430 (.:+5. 5)
NEAL V= FunT - A iz FLEk apvb NAGL V=t - K e Fofk aivh
1 8 2792 ftH £ME(©2) = &\ @D 13. 19 1 2 2325 I ZER(Q) = @-gmEnn 13. 44
2 5 3000 dbil 4%(3) = & - A 13.23 2 8 2791 (LW ®HEQ) = &-myd 13.57
3 3 1220 [ #KE (J1) = ®-NAC 13.23 *TK 3 1 2749 " AR (Q) = E-MEE 13.61
4 9 1767 B AELS(QQ) = E-EsP 13.50 4 4 1512 WUEE WMBE (@) = ®m-gmod 13,67
5 4 2164 B WHE(2) = ®-dmlkd 13.73 5 7 1448 3L EFL(Q) = & i 13.77
6 7 1588 KPH Fik&(3) = & /MEm 13.78 6 9 1286 WA #JH(3) = & - kT 13.77 *TK
76 995 PHE A3 = w-nisd 13.80 76 601 JHE LAEHE) = E-aET 13.87
8 2 1081 AR FREG) = ®-@md 13.90 8 3 164 TH] ML) = & -EF 13.90
9 1 434 E FREQB) = mewmesme 14.09 9 5 1904 KT {EHQ@) = ®-pomss 13.95
5%H (R:+3.2) GRE (B:+4. 2)
NEAL V= FunT - A iz FLEk apvb NAGL V=t - K4 e Fofk aivh
11 1511 | B @) = &-amup 13. 44 1 4 433 B HE®OQ) BN 13. 62
2 9 840 AEA {HI(3) = @ - gD 13. 62 2 5 2886 TrH MEL(2) = & - cET 13.70
3 3 2555 S FHE(2) = w-aRmE 13.82 39 600 AH EEQ) = ®E-AEE 14.01
4 5 1929 FKHE WEQ) = m-srEm 13. 84 4 2 5548 Hifs MEIZR(J3) = m-dBeast  14.06
5 7 1793 ML PET-(J3) = i - REBFRC 13.87 5 1 841 B ML) = W - paET 14. 08
6 4 1589 A FEE(3) = AR 13.99 6 6 1151 WL FLPE) = & -JEAR 14. 12
72 1849 WAL WiAE(2) = E-maEd 14.15 73 2222 BRCR ERA(2) = E-Ead 14. 27
8 6 1371 LMW #H0(Q) = m-ammEs 14,20 70997 U EAH@B) = E-mrHw DNS
8 1284 £ FEH@B) = &- @ DNS 8 1152 ¥kl Zeow(3) = & EAF DNS
TH#H (L +3. 4) SHH (. +4. 9)
NEAL V= FunT - A iz FLEk apvb NAGL V=t - K4 e Fofk aivb
1 7 2750 TR 4E(2) = E - /MR 13.79 1 7 1453 [ WWH @) = &E- AR 13. 47
2 9 311 B FEH®O) = E-RET 13.98 2 5 2143 JRE Z kv (2) = &-/MEd 13.84
31 2224 Bl KE(2) = &-Ead 14. 00 3 4 851 AR F@®) = & - feded 13.88
4 3 2639 Wi)ll Ay (J2) = E-NScC 14. 04 4 6 852 HIE EHEG) = m- s 14. 05
5 5 1452 MR FEIRG) = &- WFh 14. 17 5 3 142 KR MKIRB) = m- E 14. 43
6 8 2405 WEAR FEA (J1) = moowmersy 14,34 6 8 2527 WA BEFI(2) = W -EEmT 14. 58
74 744 TR O ER) = & Eam 14. 43 71 996 BEFn FT-(3) = ®-EAsT 14,62
2 93 AR WEHFQ) = & REseh DNS 8 2 431 HEH FaT(2) = m-pwsmn 14.92
6 1784 itJF MEE(2) = &E- -k DNS 9 2366 /AT ZEEL(2) = E-atse DNS
ofH. (Jal: +4. 3) 10#H (A +4. 8)
NEAL V= FunT - A i FLEk apvb NAGL V=t - K e Fodk aivb
1 6 2367 [ EFE(2) = &-&lsd 13.77 19 2637 #§H HAHJL = &E-NaC 13.91
2 2 1447 WR EHEGB) = E-WRh 14. 06 2 4 1682 FHE FIRB) = - 14. 01
37 838 B HHEE(R) = & - bumT 14. 14 32 8 [ MEH (J1) = ®- beast  14.05
4 5 5669 EH HE(J3) = - HEHRC 14. 14 *TK 4 8 901 AH FEE(J) = - EBeast 14,36
5 9 146 fEH EREL(3) = &E- Fwen 14.19 5 5 2087 NH #©) = &=-&zT 14. 46
6 4 135 i HEEAEG) = & - B 14.20 6 3 94 AH $5#EQR) = &= mHEd 14. 47
7 1 2368 JH BT (2) = w-nlsd 14. 28 76 1150 FE FHg@) = &E-EAF 14. 58
8 8 1350 ifh PRE(3) = ®-MGEH 14. 42 8 7 273 B ¥AHQB) = ®:-mrEd 14. 62
9 3 842 WK EH(3) = - BET 14. 48 9 1 1772 I HIKWE(2) = & - Ehh 14. 65

JLIl DNS:Ri5 *TKEZHY




tH 2242 +100m

YA gk (K) 11,96 #  #ECN ) v Fi 6 A7 (2024) 4H29H 11:00 #hv -2
PARV-2  19%E
1150 (Ji: +3.8) 12%H (8:+3.5)
NEAL V= Fun - A iz FLEk apvb WAL V=t - K4 e Fofk aivb
1 8 2728 W[l 7o (J2) = ®-euwserys 14,33 1 6 2312 sk ME(@) = ®=-xEgsw 14. 46
2 9 1779 WA MEG) = E- Eaew 14. 46 2 5 1408 fMiE EER(G) = m-mEsh 14. 62
3 4 2221 My R (2) = @ -Eadh 14. 46 *TK 3 8 396 BFHE & (2) = REMET 14. 69
42 1732 o EEEB) = & - s 14. 47 42 2723 iEAF REL(Q) = m-samuok 14. 70
5 3 2371 Ay ERM©Q) = ®-atsd 14.51 5 4 2968 TN E(3) = E-smEd 14.71
6 7 138 g EFAB) = ®m-Ewmeh 14. 54 6 3 1850 FfE BHIA(2) = ®-—gms 14. 85
76 616 t& WEQ) = - 14. 74 79 1786 MK REE(2) = @& 15. 04
8 1 1908 B #EE(Q2) = &- g 15. 09 8 7 1513 Il FFH(3) = ®-pELS 15. 07
5 882 @M IRE®) = - gE DNS 1 1281 IRl 2£¥(3) = & - Xl DNS
13#H (Jal:+1.2) 1440 (A +2. 4)
NEAL V= FunT - A iz FLEk apvb NAGL V=t - K e Fofk aivh
1 6 2806 L5 BE(2) = - 14. 27 1 5 2543 Mk MA@ = ®=-mEgs 14. 59
2 8 743 I I&H(3) = & Eam 14. 45 2 9 27271 W)Il EH(Q2) = ®-pELE 14. 69
39 304 HRE Oz (1) = & EAd 14. 77 34 1510 R FEEH@B) = ®=-amah 14. 88
4 7 1263 Tl EE@) = & sREE 15. 08 4 3 2526 FRIE ERL(2) = E-gamd 15. 02
5 4 835 [ EEQ) = &-#t 15. 38 5 8 2421 g 1 (2) = @ 15. 14
6 1 145 HE HO) = - B 15. 67 6 2 274 BB FEA@B) = ®m-mrEd 15.16
72 2722 OB (2) = & gl 15. 97 76 1264 KB = (3) = H - R 15. 74
3 1369 thill BEH(3) = ®-aEmEd DNS 8 7 1321 &AM EWi(QR) = &-mEmd 15. 89
5 384 H7E  FE(3) R DNS
15%H (Ja:-1. 5) 1640 (A:-0. 3)
NEAL V= FunT - A iz FLEk apvb NAGL V=t - K4 e Fofk aivh
12 310 ¥k OIREG) = E-RBET 14. 54 1 5 2542 [UAR OMEQ) = E-mas 14.93
2 8 395 JJR #EHFJ = E-NAC 14.71 2 8 1902 k¥ #dE(2) = =m-pgmwd 15,51
39 2885 &l EIy(Q2) = & 15.07 32 2751 KA HH(Q) = E-AMEE 15. 67
4 3 1733 HEE WG = & EED 15.31 4 6 92 FEEE HERE(Q) = ®m- Rk 15. 68
5 5 2478 il EERF(2) = - AT 15. 56 5 9 1747 [t WEFQ) = & BT 15. 72
6 7 1406 [l 5 (3) = ®m-mEaw 15.65 6 4 389 ZA FEHG) = m-omws 15,75
74 876 /hE BH(3) = w-mmEin 15.69 77 5671 RE A (J2) = E-fENRC 15. 95
8 6 387 M {HZEE(3) = m- g 15.73 31907 JEHE JhE(2) = & - g DNS
17#H (jf: +1.3) 18%H (a: +2. 3)
NEAL V= FunT - A iz FLEk apvb NAGL V=t - K4 e Fofk aivb
1 6 1748 MME FiHR(2) = & - e 15.33 1 5 2844 WNIL FE0(2) = E-REHR 14.75
2 5 88 W AKHL(2) = ®m-RMNcH 15. 38 2 4 1749 FH Hhx (2) = & RTe 15. 57
3 4 2884 &K FHEK(2) = & - wit 15. 69 37 2017 AAH EH@Q) = ®m- AW 15. 72
4 2 1322 dbiE OMER) = & - mEssep 16. 30 4 3 25635 & Fen2) = &4 16. 07
5 9 1906 #rPN  EEK(2) = m - g 16. 36 5 2 1368 kM EEQR) = m-amEwEds 16. 28
6 3 1370 WA HER) = @ aEEd 16. 47 6 9 2305 BRAE A2 = m-fdew 16.33
7 8 837 API EHE(Q) = - pHET 16. 67 7 6 2898 /NEE EfE(2) = W wiERT 16. 38
7 2159 Ui #ET-(2) = m- ks DNS 8 8 1372 &l FBEHB) = &-aEEd 16. 60
1940 (:+1. 6) A L1V — A _ENLSNIE
NEAL V= Fun - A i FLEk apvb JIEAS7. Fyn - K4 e ok B aAvh
1 8 2306 M EEEH(2) = ®-4dk 15.18 1 2626 LAt BRZR(J3) = E-4EJr  12.33 +3.2
2 6 2016 R FOAQ) = &A% 15. 67 2 312 T FLAE(J3) = &E-NAC 12.59 +3.2
3 7 1514 Al AAeAH(3) = ®m- RS 15. 87 3 1285 i #E@B) = &-xmd 12.95 +6.3
42 2842 o EEE(Q) = ®m-RET 15.97 4 5544 HJE W W (J3) = - KINGIOM AC 12.96 +6.3
5 3 2162 JIlE MHBE©Q) = &kl 16. 02 5 297 M £F@) = ®-—gymd 13.00 +3.2
6 5 2888 fBEL ZEHE(2) = & - T 16. 08 6 163 BA)I HK3) = & & 13.05 +3.2
7 4 5970 R FEK(J2) = & - BEERC 16. 88 7 14 =#y F7/2QB) = &-Baf 13.08 +6.3
8 9 6077 MTN BEJH(2) = - iRl 17.33 8 2792 A EHE(Q) = - 13.19 +4.0

JLIl DNS:Ri5 *TKEZHY



th 2222 F200m

I 2RI EE (KD 24.70 bk BRI (R ) A F0 6 4F (2024) 4H29H 13:05 #{hb—%
PAAV-2  8HH
140 (B +5.2) 2%H (.:+5.3)
NEAL V= Fun - A iz FLEk apvb WAL V=t - K4 e Fofk aivb
1 6 2626 JbAt &3 = ®-4Er 24,74 19 1285 i ®HRERE@) = &=-xwms 27.62
2 5 312 FR OBUE(J3) = ®m-NAC 25. 63 2 6 2325 BEIF EER(2) = @-emEnn 27.88
38 297 FE £FQG) = &-ogmd 26,15 3 5 1511 & #= @) = m-#amus 28,05
4 4 2223 KVE WEEL(2) = E-Exd 27.39 4 8 14 =#y F7/2B) = &-Baf 28. 11
5 9 2792 ftE E#E(2) = - mEHd 27.57 5 2 3000 dbi % (3) = ®-mEeE 28,12
6 2 2422 WE WEEQ) = ®-amd 27.63 6 7 1512 [LBE WR@) = m-gmick 28.46
7 3 165 f@ HZ(B) = Em- o 27.79 74 995 FEE BEZE() = ®m-utsd 2851
702370 HIE BIR(2) = - owtbsw DNS 32366 /MR EEL(2) = oE-misd DNS
3%H (. +5. 9) 430 (.:+5.2)
NEAL V- Fun - A iz FLEk apvb NAGL V=t - K4 e Fofk aivb
1 4 2224 BJII K& Q) = @m-mEah 28.24 1 9 433 JiE HIEQ) BN 28.13
2 5 2749 i EA Q) = & Mre 28.24 *TK 2 6 872 HWH £FKB) = @-pmEnn 28. 69
37T 2225 UK Ex(2) = E-ERE 28. 66 37 617 HfA WG = m-mEs 29. 10
4 6 1849 THKF Wi (2) = m-msEs 28,82 4 4 2527 BURT O BEFA(2) = E-mEmT 29,38
5 8 744 VEK ME@R) = & -Ead 29. 16 5 3 2312 fajk ME(2) = ®m-xgw 29. 80
6 9 434 E FREQB) = mewmesme 29. 52 6 2 2475 WY BEE(2) = ®m-EAT 30. 06
703 141 #ok L@ = & B 29. 63 5 2639 i)l #4(J2) = WE-NscC DNS
8 2 135 &¥B HAEA@B) = ®m- EWh 29.78 8 1284 Y2 £HAB) = ®E-xmTw DNS
5%H (8 +4. 0) 6}H. (. +4. 1)
NEAL V= FunT - A i FLEk apvb AL V=t - K4 e Fofk aivb
1 5 2746 HiE H3E©Q) = & /MR 28. 50 1 6 1447 WA E£kEQ) = E-#Rw 30. 39
2 8 94 KHE 43 = m-gwms 29,31 2 7 2945 LB AHEQB) = m-Ew 31.22
3 6 1786 FAAK RMEE(2) = ®m- &P 29.93 3 4 2161 A MEQ) = m-mEer 32,73
49 431 A Fi1-(2) = wemmdme 30. 21 4 3 837 KI EHEQ) = &-parsp 34. 34
5 4 2727 W) FEH(2) = m-gmod 30,25 5 5549 VWHIL VEEE(J3) = @ iBeast DNS
6 3 2421 JNjE E(2) Sl L 30. 68 8 2886 FpQH M-EE(2) = -l DNS
77 2371 Ak EFEMEQ) = ®m-mied 30.75 9 136 AE)Il RESE@B) = & Ed DNS
8 2 274 WBF FEH@B) = m-maEs 31014
THE (J8: +4. 6) SHH (H.:+5. 0)
NEAL V= FunT - A i FLEk apvb NAGL V=t - K e Fodk aivb
14 1220 8f #RE(J1) = ®-NAC 27.48 1 8 4 ME EE(J1) = & odBeast 29,11
2 3 838 & MEER) = & - pard 28. 87 2 4 310 Bk LG = &E-RBR 29. 22
37 133 AR OBRHE(3) = E- Fwen 31.61 39 1773 i REE(2) = @ B 31.14
4 5 1778 M 1 (2) = - R 32. 41 3 2885 A FIy(2) = & ST DNS
5 9 1748 MM HiZx(2) = & - BT 32.92 5 1774 fifgy  Fi(2) = E- B DNS
6 6 1749 & Bz (2) = m®m- BT 33.42 6 2555 HiE AE(2) = ®-mmms DNS
8 2159 [ 2T (2) = - e DNS 7 1769 BiH  PIEE(2) = m- Emh DNS
A AL —RA _BNE8HL
NI Fun - R4 Bz ko WA
1 2626 LA BEZR(J3) = E-4EJ)r  24.74 +5.2
2 312 TR FUE(J3) = &E-NAC 25.63 +5.2
3 297 FE ZFQ) = m-—gEd 26.15 +5.2
4 2223 RV mBEL(2) = E-ER 27.39 +5.2
5 1220 HMH] #RE(J1) = #E-NAC 27.48 +4.6
6 2792 PR W (2) = E- e 27.57 +5.2
7 1285 H PR (3) = ®-xEs  27.62 +5.3
8 2422 B WHBEQ) = &=- @@ 27.63 +5.2

JLIl DNS:Ri5 *TKEZHY



F 1 F800m

IR rp 2R Rk (K)) 2:11.27 A K22 CEHEF) S F0 2 4 (2020) 4H29H 13:20 #{hb—%
B{hV—-2%  BRE
1#H 2%8
NEAL V= Fun - A iz FLEk apvb WAL V=t - K4 e Fofk aivb
1 11 1683 /NIl Zoix(3) = & - e 2:19.01 1 8 1903 PIH SEQ) = & gk 2:43.27
2 6 1584 M EEEE() = E - MR 2:28.00 2 7 1351 BPH KRE@B) = ®m-fmh 2:43.32
3 9 2554 L Q) = &-aEwmde 2:28.33 3 4 435 IR WEIR(3) = m-mwormen 2:43.54
4 10 2024 B FZEJ2) © 0w SR RC 2028, 42 4 10 5669 EH AZI(J3) = @ -REERC 2:45.25
5 5 139 FEKS FEH(3) = - B 2:29.38 5 2 451 R ®WRJD = #E-4%Jr 2:45.30
6 7 428 JNfE BAMK(2) = memsemme 2:30.40 6 6 1513 Il FFE @) = m-gmwh 2:45.73
72 1684 [@AT DEE(B) = E-mmd 2:39.61 7 5 1287 AL M) = @-xmET 2:48.94
8 3 385 &k HH(B) = m-pmat 2:41.18 8 3 304 MW Op7-(1) = @-EAD 2:50.73
9 1 1785 M F<H(Q) = E- -k 2:45.19 9 1 432 WA FHIQ) = wowmmbmt 2:56. 80
4 1686 MH)Il e (3) = @& - @ DNS 10 9 743 AH & B) = Em-E2d 2:57.31
8 1685 HJII BAF|(3) = & - DNS
3%E 4%
NEAL V= FunT - A i FLEk apvb NAGL V=t - K4 e Fodk aivb
1 5 1774 fis Fjde(2) = E- EwP 2:45.24 17 91 [f%y #EZF(2) = ®-RFdE 2:53.86
2 6 2326 EA EEF(2) = @me-pm@ir 2:46. 20 2 10 2425 ¥k #EZx(2) = E-mE® 2:55.57
3 10 873 I L) = megmEie 2:47.39 3 8 2161 A mEQ) = &-amkr 3:00.04
4 9 874 TH EPLQB) = @m-sm@it 2:47.70 4 2 1733 m¥ Lk Q) = &-&AEd 3:01.91
5 2 1747 [ WAEF(2) = E-mErd 2:48.26 5 5 89 Wl FH(2) = @ BWmd 3:02.87
6 4 49 A L&EJD) = & Eseast 2:51.06 6 6 2324 R FE@) = mepmEir 3:04.70
7 7 836 KM EE(Q) = &-tard 2:59.19 71 1769 BiE CPEF(Q2) = E- EEF 3:05.05
8 1 2369 &M #EH(2) = ®m-mrsw 3:00.15 8 9 2426 i FEW() = @ @mEd 3:10. 62
3 140 A% MERIG) = E- Ewd DNS 3 1365 [P AFB) = m-akRwEd DNS
8 136 FE)Il RESE(3) = & FEwew DNS 4 2722 £ 2H(©Q) = - il DNS
5E Z A AL —R EASHL
NEAL V= FunT - A iz FLEk apvb JIEAS7. Fyn - K4 e Fofk aivb
11 90 #H HEX(2) = m-pEme 3:01.23 1 1683 /NIl Zoix(3) = ®-mE%E 2:19.01
2 3 2898 /NEE EfE(2) = m-miemt 3:01.97 2 1584 HH fERE(3) = E-MRR 2:28.00
37 2423 BR EAK(2) = E-@mmT 3:06.51 3 2554 HIIL $IE(2) = m-ammds 2:28.33
4 5 386 )l w3 = m-pEmmd 3:16. 18 4 2024 & FnzE(J2) o meoNE sTEP R 2128, 42
5 6 1265 FHE O3E@R) = m-gEmTh 3:16.71 5 139 fEAT K (3) = W EmR 2:29.38
6 4 1772 Il Fifkwe(2) = @ Em 3:18.13 6 428 MR WAk (2) = mewmerie 2:30. 40
72 1080 MY FgT-(3) = &E-mEd 3:28.67 7 1684 [EIA DB (3) = & - 2:39.61
8 383 JHH EBA(3) = m- g DNS 8 385 & FH(3) = m-omsd 2:41.18
9 2542 (LR MEQ) = & DNS
10 427 FH B (2) = & bebme DNS

JFL{5l DNS:&R15



24 F1500m

R R (K)) 4:26. 20 I OEA (B ) A FnFeAE (2019) 4H29H 15:30 §{hb—2
BAhV-%  3%E
1#H 2%8
JIEfE ORD  Fvn"— K4 il Fdk aAvh JIEGZ ORD Fvn' = K4 i) Fldx Vb
1 12 1683 /NIl ZoiE(3) = & - @ 4:51.23 19 1903 PIH =EHEQ) = & -g#ed 5:31.35
2 11 2554 B #3(2) = m-aRwmd 5:03.96 2 10 95 fHEE MFHFZRB) = ®- s 5:35.25
310 1584 HT FEEE() = E - MR 5:14. 62 37 2326 EA EF(2) = w-gmEit 5:45,.52
47 428 JNFE Wifk(2) = @emmepme 5:21.37 4 12 385 &fF XE@B) = ®m-uosmwr 5:45,62
5 6 1684 [k LB = &-@Ewd 5:27.15 5 11 133 AfR WRR(3) = ®m-EmP 5:47.69
6 5 435 BEH MER(3) = w-mwikme 5:42,47 6 8 89 W FE(2) = @ BWEM 5:56. 64
73 432 WK FHI(Q) = wewsermer 5:51. 44 7 5 873 il WMLE) = @m-gmEat 5:56, 98
8 1 1287 &I A (3) = -t 5:53.54 8 6 874 JEM FH(B) = m-pmEmit 6:05.04
9 2 1262 B =) = &Rt 6:01.16 9 4 836 KM HHE(Q) = ®-paET 6:09.22
4 1785 HH X< AQ) = & BT DNS 10 1 2565 O ZEE(2) = ®-MRH 6:17.45
8 1685 MJI BA#I(3) = - jEmm DNS 11 3 2425 {&%F #EZz(2) = &E-mE® 6:22.50
9 1686 HJII AWL(3) = & muh DNS 12 2 2324 "RF FgE(2) = mesm@ne 6:28.14
3%E Z A AL —R EASHL
JEAL ORD Fvn' = 4 B Ak v JEAL Fon = K4 Ei gk v
1 7 2803 HifE EAL(2) = & -@ET 5:56.12 1 1683 /NI Zoix(3) = @ -@Ed 4:51, 23
2 9 96 I FEJh(3) = m-mHss 6:00. 86 2 2554 ML Q) = ®-ammd 5:03.96
32 90 N AHEE(Q) = ®-R¥sE 6:02.73 3 1584 H FEFE() = @ -MER 5:14.62
4 6 2805 MM EIF(2) = E-mEP 6:24.73 4 428 JNEE  WiMK(2) = mempebme 5:21, 37
5 10 2423 BR JEARMK(2) = ®m-@md 6:31.03 5 1684 [y B (3) = & -l 5:27.15
6 11 2426 i+ FERL(2) = &E-EED 6:32.75 6 1903 PIH =E(2) = ®m-p#Ee 5:31.35
7 4 2801 iEHWF FjF(2) = E-@ET 6:49.19 7 95 (i MIFRB) = ®-BIAd 5:35.25
8 5 386 Al TLS(3) = m-psiEm 6:49. 52 8 435 Bt MEIR(3) = memsorme 5142, 47
1 427 FH  BH(©2) = & ewdge DNS
3 1080 HIH A1) = ®=-mmd DNS
8 383 JHH EA(3) = W g DNS

JFL{5l DNS:&R15



5242 F100mH (0. 762m/8. 00m)

R R (K)) 14. 05 AR WA K % 254F (2013) A4H29H 15:20 §{hb—%
PARV-2 4
140 (8 +4. 5) 2%H (.:+3. 3)
NEAL V= Fun - A iz FLEk apvb WAL V=t - K4 e Fofk aivb
1 4 162 & F Q) = & &P 15.20 1 6 840 AR (ZHI(3) = & -mamd 15. 86
2 8 5544 HJE D Y A(J3) = - KINGoM AC 15. 75 2 5 2143 JRE Z kv (2) = &-/MEd 16.78
3 5 5546 EiE EME(J3) = @ kneoow ac 16.19 33 1453 UMW ¥AH®B) = m-wEw 17.25
4 6 745 A MEF(3) = @ ERT 17. 04 4 4 1452 W FEIRG) = ®m-wdEw 17. 89
5 2 842 FEK Er(3) = & - pEh 17. 61 5 7 872 WH £FKB) = @-pmEnn 18.32
3997 [ EH@B) = @ st DNS 2 384 HhpE  F(3) = & - g DNS
7602 3 &) = E-ART DNS 8 834 [hp #FE@) = &E-bugd DNS
9 1445 dbH XA B) = &E-#Few DNS 9 1850 #3 BRIK(2) = ®-—gm® DNS
3%H (:+3. 1) 430 (. +4. 1)
NEAL V- Fun - A iz FLEk apvb NAGL V=t - K4 e Fofk aivb
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